Multiplying a Monomial by Two Binomials (A)

Ot

Simplify each expression.

Cwt(—=5w — 9)(—2w* — 2w?)

7¢*(—2¢ + 7)(—3¢° + 9¢")

3. —4c*(c* = 3¢*)(6¢° + )

At (=9’ — 9w?) (Sw? — Sw)

9(=T7¢" — 2¢%)(—2¢" — 6¢°)
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Multiplying a Monomial by T'wo Binomials (A) Answers

o

Ut

Simplify each expression.

Cwh(—=5w — 9)(—2w* — 2w?)

= 10w” + 28w® + 18w’

T¢*(—2q + 7)(=3¢" + 9¢")
= 42¢° — 273¢" + 4414°

—4c*(c* = 3¢ (6¢° + ¢
= —24c" +68¢" + 12¢”

At (—9w® — 9w?) (8w? — Sw)

= —288w'! + 288w"

9(=7¢* — 2¢°)(—2¢" — 64°)

= 14¢° + 469" + 12¢°
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